For problem 3-6 shown below, please solve it using an atmospheric pressure of 85 kPa. Do not use a pyschrometric chart as it says below but instead solve it again from first principles using formulae. I think you have to use steam tables.
[image: image1.png]36 In an air-conditioning unit 3.5 m?/s of air at 27°C dry-bulb temperature, 50 per-
cent relative humidity, and standard atmospheric pressure enters the unit. The leaving
condition of the air is 13°C dry-bulb temperature and 90 percent relative humidity.
Using properties from the psychrometric chart, (a) calculate the refrigerating capacity
in kilowatts and (b) determine the rate of water removal from the air. Ans. (a) 88 kW,
(b) 0.0113 kgfs.




b ) Determine the mass of water vapour in 400 cubic meters of air at 52°C and a relative humidity of 20 % when the atmospheric pressure is 100 kPa and 85 kPa respectively . 

